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UttqutAmrJ1

Ut41tut0p0bp
qnb0uqur0 ulh|.nnUpobn l, qFrrlub0lurqulh0 0JnLpbtl 1000000

30191632 pnrqp, 44 $nprlulnfr2 121'x29I / CZ t'nnLtr 2000 840000 424

3079723L

prpruqurhur\, ulnfi{hputlf l.t

prurlutrp, $ur;1 cz huur 8 24000 3000

30191232 pqpruqurtrur\, urptuqu\urp, IdrlPlur CZ hulrr 50 10000 200

3Ar97233 p{pluuluLurU, prlldt, phLnq cz hurur 50 5000 100

30199231 trurlur\ft bpurp hurlII 10 1000 100

30199232 blup, hb, 44 Snn uuh hurllull hlur.r1 50 2s00 50

30192727 qLqir\ru{np qpf2 cz h1uu 100 20000 200

30199420 pmrp, h2mr.rlthpf hur urp cz unr-qr 200 7000

34192170

unufrh&, p1plr, uutL]urpurprlldb U

utpuufft cz hurul 80 3200 4A

39263410 ur pru\, rfhuturrlur, $npp CZ nmrJr 180 3600 2A

30192100 ntrnfir, huruuprull hurrn 100 1300

30792720 qEub2[1.(tlLup\hp) cz hurur 2s0 3500

39263200

qpuruttrl ur\url fh qfrnp, r.fur,.tlurh, 70-

200tt, untutrb, uulfruut\ kgtpn{ cz hrur.n 400 20000 50

30192137 rlurnfra, qpu$frlnh rjb2nrUnq 2 hurur 80 2800 35

34t97322 \urpfrjrhp, 20-30 phppb hudlup hurur 900 13500

30 r9 7112
\urlf $ rf hrnutlurgulpt \uqhp,
LtlrplrL um+ 200 3000

30L97727 \ndqu , tp\urplu c2 trlnuh 150 600 4

34197234 p4purulurhur\, \n2u tluq nq az h!u\n 704 21000 30

30141200 hur2rluruulnp, ut4ulbb hul.r 2000 18000 9

StuurLutu!rutr, uurb-hfrqtLb\ h dutgplr Ilr2nghtp 455760

39831243 plrugpfr $n2[, urlrnn tuur az \q 940 94000 100

39832000 uq uruplr 1]rugrtu.rh rlurbmLl cz hruur 27504 50

39A37272 uqnrtrq, ur urh $urtru1nr cz hulur 30 1500 50

39832100 uqurupf fl utgtiurtr $n2lr CZ hrur.n 254 7500 30

39831600 qnrqupurhhtpfr rlupprlurh h;mphp CZ hurur 850 42s00

39831241 odurn hruur 240 48000 200

39831245 &tn!F htqm\ odurn cz hurur 3s0 70000 200

39836000 ,!.ltL hulur 900 27000 30

39839200

qnqu.rplrur\, urpp hurt]ltptpr
hurdurp CZ hruu't 150 4500 30

33761000 nml nUnq, qnr.quFluhF pnqP hutn 100 60000 600

39224332 glb\ruqurn r1nr11 cz hurur 1100 22040 2A

3922434! ru4purp\r1hp, qluurmlururulftg CZ huln 1000 20000 20



39513200 prydt utrd.Lnnghurtp bpU2hFur hurur 8000 50

3983s000 hrurnutll tlurpphpr dnrl hruur 1000 10000 10

39811300 o4f hruur{tu hnLnurqtpbf 2 hurul 11100 30

31683100 tnupur2]ulr2 3rn, 3rI prpnrl CZ huur 1200 24000 20

30L922r0
ulnLF tpu{IrL bhphurUuumtr
durqu{ttr/u\n/ hulur 5000 20

hhUrnFurquU Lu ul, 60W, 80W,
100w cz hrurn 80 12000 150

19435100 \urnlt fotf CZ \ttd 400 1600 4

39812100

hurnru qIr Uu.rdFq /UulutnFqur/,
hururul\thlf rf urllt griu[ h
dtu\hpLmlpf uluhqurhrlurh
hurlurp qq 1360 1360 1

31584000 ,lurfrl-tl huur 500 10000 20

31681710

Fr.uduLurFurF tnm+, hmu$urq,

fur$urq dt\urpru\uh
furgm 1rtlfr hullurp cz bu.rur 50 1000 20

39000000 {urg2ur\urtr uurppurrlnpmJhhp

39515440 nqquhurlurg 2tpuurrlurpurqnqp FCUZ ptt 4500 420000 93,35

39774220 olnpur\b! 12000 BTU CZ huln 205000 615000 3

39774220 oryrpuUlt! 12000 BTU CZ hulur 152500 't52500 1

32200000 Ltgpf h hhnurfu nuur\ur1uh cz huur 134000 '134000 r
9puuttrlur\urlfrh \urhnrlp

39121320 .}fttfuqfp utqurh az hunn 1s000c 150000 I
39138200 Upnn A108 hura 32000c 320000 1

39121370 Qpurutrlurl-r cz huur 4s000c 450000 1

39138200 UIdnn CZ huu 5000c 100000 2

39138200 Upnn cz huru 13500C 135000

39121200 Zuhrlf qm tuhpf utr1u.rl.r az hurur 25000c 500000 2

39298200 L\tupfr 2p2uLur\ az hurur 400c 4000

Ct4udtltp 1659000

9purutLlu\ur1|rb qmlB

39531800 Qrlq trFC hurur 23940C 239400 I
39531700 nqtqnFq cz huLn 69300 69300 1

Ctt4w rltltp 308700

Zur ur\urpqlurlf tr urhluhfr\ur 990000

30213300 utlubf hullur\urpqfrl hulqurpurbm 297004 1

30213300 utrluLlr hrurlur\urpqf r2 hur{urpurbm 229b00 1

30210000 LnIdPnLP CZ hurur 369000 I

30239130

trlqFl/qurudbhuhurtr tuh
dLpthur/u\urLrt1, luqhpulfrt.r hulur 95000 1

09132200 Ftbqftr (ntqmlurp) CZ Lhurp 2000000 4200

09100000 .{urnhpr{.rurju ACUz luil 350000 2a

SpurtrurqnFururllrb h2ngbtpf hu url rulytrlmphp 2100000 1

34312000 Curtdbrb qrluhlr cz huur 400000 400000 1

34312000 Ltpbbnq o4urf nlulr2 CZ hruur 20000 20000 I
34312000 UIung CZ hurur 4000 16000 4

34312000 o11 hru{uprubnr 12000 12000 1

34312000 LLF4puU a7 hun]urpurbnl 6s00 6500 1

34312000 hp 2tpri\uquihnrllr2 huln 2500 2500 I



34312000 .lurnulpurtrb linurpu2lub! cz hurur 8000 8000 I

34312000 "hunngpf rlml ..) hurur 3000 12000

34312000 Fu.rpd.p prprlutr hurrlnJtllluLurl cz hruu 3750 15000 4

34312000 rtbquLirlh> qutl)h hLur hrurlurprubnr 20000 20000 I

34312000 crupdff $n\ az huur 15000 15000 7

34312000

lurq\uul u1!

Itluurl,rlrqrl'u\ul{urnu\, utu1,

,n\dutrlt hul]urpurbm 70000 70000 1

34312000 apf 9mg|1 cz huln 25000 25000 I

34312000 ft hurfrtrL \updulunqn{ur\ az hurr.D 5000 10000 2

34312000 Fp\fr hnuput2lult2 cz huu 15000 15000

34312000 Fngulimrl cz hruvr 7500 30000 c

hurL'r s000 10000 2
34312000 aL{urqnp rlh}uurLFqU cz

34312000 Cupdfjr mu4fumnP huur 30000 30000

34312000 qrunupulhb mu{bulrlnp cz hurl.n 9000 9000

34312000 'Ifrl-rur.in1f urbm]g-l! hurur 10000 10000

34000000

SFurhu,{nputlulhh il}rgngUhPf

hu run lull blnlldhn CZ lpulrl 1364000

>Lj,,,,1"-' -Ln
4349180

1 44927140 9ttqu dz trc 8500 10(

2 44821000 I-urp rftutrp u: hur u tu \ft qq 127500 a:

3 44t92620 I-Itlu, trnrurlu\utr \q 680

31651100 l.Ih\mufrl duqut{bh CZ hruul 1400 1

5144192700 Lhn\uqLurhbq cz hurul 9500 10

6 44322240 Uurtmlu, urum bLt 2{hFnq, 2,5 d2 az if 17 40 30

7 444!t720 gplr 6nlur\, 2 $ur\urtm{ cz huul 12000 4

8 44117420 Qmu2 cz huu/ 250qt 7500 20

9 24950000 af quurlf h bt$urr'f rubhlf {Ue9) az hruur/30\e 3500 35000 10

10 24952000 Lltpr;f rh btrJrutiurblr\ CZ huu/30\q 6400 25600

11 3116300 I-ulurhpu cz huul/2oUq 10400 83200 8

L2 44100000 lLurlutubLF\(hEI' q)- cz tJr.ir 1480 | 14400 30

44s12220 l2{UurldmlP(N150,N180) CZ truur 2250 30

14 44140000 oprirprurqpuuh Pfttl cz huru/1.4 ls50 | 25300

4422120o lrlnrn(hurr{ruPu'lbm)
huur 1427A0 | 555100

44 10Ooo0 | 
qbquuruur{ruprupnrqp D t340 40200 30

77 24910000 ltlurtlFurhururur\b unubh& l'Z \q 8s0 I 17000 20

44423ss0 l4lr'n$hr l'z
hurul/4 

Iriturp 1680 10200

19 44531510 l'/rlumr.nul\ CZ huln 4 4000 1000

20 44140000 'tlnfirhp jr1hhul1 frlt purlurhp cz P 190 5700 30

2I 441oo0oo lulrm bLh FurqFb\ lce qb/r.l 27000 270000 10

22 44673270 Qpfr rnupu 4001/1tuPl lcz hurln 43000 129000 3

23 44115210 Inrputr/qu qlur {n\/ hurL'l 1150 3450 3

24 44r!5270
'tlmful 2plr ur{unduut
\upqullnpfrlnrl/ hu[]ruPubm/ ..) hurlurpurbm 35000 105000 3

25 44141000 Uhr,'rur4ulq1urur,'rh |unrlmlru\ cz qb/ 270 6300 30

44162704 Utrlgntru\ d=15 hruu,r 840 3360 4

27 44162100 Uhgnl d=15 CZ hurln 840 840 1

28 44162100 rrguniuru d=15 tI az hruur 1280 6400 5

29 44162700 bmupru2]ulr2 d=20ritl huur 1890 1890 1



30 44141000 I}tr.nfrhh ]unqn{ru\ d=20 tI CZ qb/d 200 200 1

44141000

-plr hhnurgrlu! ]unqn{u\LhP
l=5O.III az qb/ 770 2

32 34928320 Uhr,'rurlu\urh gruLg o 1400 42004 30

Ctt4wttttE '1555980

1 44162104 Utrnurryur urbgnrrl cz hurL'l 1500 7500 5

2 44162100 LItr"nurqur u.rhgnL1I cz huur 1500 6000 4

3 44162tQA Ut r"nrurS u-r ruhgmLl cz hurul 1000 8000 8

4 44762100 [Ihuu{1u uhgnrU cz hruvr 200 600 3

5 44417r24 ap[r bnpu-r\, 2 {ru\u.rhn{ CZ hulul 3500 14000 4

6 44411110 apf bnpu:\ huu.n 1500 3000 2

7 44471120 9pf bnpur\ 2 rlrur\ubn{ 3s00 3500 1

8 44411110 Ou1\urh cz hu-rr.n 1000 1000 1

9 42131100 Zturu.rrlup& rJru\ ul.t az hurur 1300 9100 7

10 44162100 bnurput2|u[1 az hurln 1900 9500 5

1L 44162r00 bnurpu2]uf2 htuur 900 2700 3

L2 44162100 tug111+uql': cz hurun 220 1540 1

44410000 anSnh fltugurpu:l.rfr,guLgn{ cz hurr,.r 400 1600 4

T4 44410000 tu nqn r,[ur\u,r qurnt\ cz hurrn 350 350 1

44523244 U pur\ lunrlnrlur\lr xz huln 25 500 20

44531510 4lr.nnruu\ t;z huur 5 250 50

17 44192610 tltlu 2|rhurpupru\ult CZ hruul 15 450 30

44411750 9mqrupurtrur\nl.rBlr quhtuuur ruu cz huur 3000 3000 1

44141000 l.Ihr.nulurqluuut iunqn{ur\ cz 220 34540 L57

2A 44810000 cz 1t[1Jl 1500 3000 2

2T 44832000 Inrbftl cz lulltl 500 500 1

22 44514200 grnp{ purp cz ullJl 680 I 1360 2

23 44192800 qir&bh az irulln 300 300 1

31681640 L1 t\upur\u.r1.r urquhmllrl hnuSuq cz nu11n 5500 5500

30192210 i'hpuLu.r\q2ntb druqu.rLlhl.t xz hut.n '180 180 1

Cltlutthttt 'l'17970

1 44172240 2ulnur\fr b urb\nr; p/lurtifttt uut cz -.t 4000 128000

L 44112200 2rurmu\fr bruS\m1P/lur lthurut pti 6200 217000 35

3 44192000 flhurbLh qrlqrnrF/nopono H cz orl 350 49000 140

4 44100000 qbuluruuuqurlulPm{Id cz 1340 225\20 I r6s

5 31524100 LL. Imuurlnm CZ hruvr 4000 120000 30

6 31524100 t1. I- n ru u rnnr/q1u $nl.r hulur 6000 108000 18

7 31686000 L1, uL2uuf2 cz hruur 800 9600 12

8 31684300 .{rup4ru\ cz hluu 650 39000 60

9 44322230 u1nrfu, qrltrd.t 2qhFnq, 4Jr'i2 CZ qb/u 180 28800 160

10 24950000 gbuturulbtr bhrltu urbbtl(UFQ) \q 150 90000 600

11 44821000 1rIP, rtuhP Luh urrr ur\ ]r CZ qq 1600 38400

12 44832000 Lntbb: cz l-lr-p 1500 18000 12

44192000 efqunttlun \q 200 120000 600

44423850 af quur\urprnnlilr qPnQ|1
nu1n/4
Uhun 800 80000 100

44531510 4l unnnur\ hu!n 5 25000 s000

44L71472 Chtrurlunurqurtr trtp\/ LutntPu cz qq 1500 1200000 800

L7 44rL2r70 unF2ulq cz qb/d 400 2s600

18 44112770 Cpb2urUIr \guJuruhn CZ hurr.n 100 3600 36



447714r3 3nqubhp\ a] \q 1100 22000 2A

Ctt4wrltttp 2547r20

1 44110000 Surtrg{al.{€ ) hurur 1000 5000 5

2 447t2240 lulmulqfr bu6\m3p/luttlfrtrutn B s800 81200 I4

3 44192000 Ghuhht +t+rnrf/noponoH p 3s0 4900

4 44100000 Qfrquruurn{urpupnrqp az pd 1340 32160

5 44140000 Ot$puutLuruuh pbq CZ CE/rl 350 38s0 11

6 44712770 pf2ur\ir \gu.rduutp CZ D 100 1000 10

Cb4ut[bttp 728710

dwmalnplnr00bp 9528000

I 71314000 I Euhpqfu AQUz qful{ 6000000 1

2 64000000 eruul trcu2 4Irll1 627000 1

3 66s10000 Uuluhnr,lurqFmldlnltl ACUZ 4Irull 33000 1

4 72500000 Zullur\urirq2ru;|rLr 6urnrulnrplnrtt FCUU 4Pu 586000 1

5 50100000 Stlrtrfr\ur\ut qLbnr Feuz qpurd 12000 1

6 64110000 Onurnulbh EunurlnrplnrLhLp FCUZ rllur 70000 I

7 s0310000

$FuuhhluttlujFtr uurf pLllr b

uurppur{npnr htpf ghputgf \
hnpnqmrl l-r r:1urhqurhmrl az ryru 200000 1

8 79112000 Ltp tlulugnrgytu\urL Euluutp FQUZ rlpur 2000000

Ctquttlhttn 9528000
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71314000 I Ltrtipqfur FCUz 4prud 200000

2 64000000 quru] FCUZ 4IILd s0000

3 50310000

qpuruhUlu\urlFL uunphFb tr

urupprur{npmtftrtp}r ptpu gf \
hnpnqmrl h qurhqutrmrl C2 lPu 60000 7

Qir4ru htrp 310000
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1 45233300 (rn{ngttFh \urqhuurl {hpu Lnpnqr cz rllu 9s4300 1

t 447L4250 Ftunhh uurlf\trhp CZ pri 5400 2700000 500

2 44911400 FhurnLh tqpupurptp CZ qb/ri 1950 390000 200

Ctr4ur tLp 3090000

1 44711200 Stdthu az tlq 239200 4160

2 14211000 Urlttlq CZ nru 11000 935000 85

CL4ur{ttup rr74200

I t42722L0 Urluqfr l-r rfurl,rpurfu f dft fuunLnr1r4 CZ luil 6000 300000 50

2 44111200 St tt.ru cz ln 57500 772sOO 3

3 14211000 U{urq a) iuu 11000 27s000 25

Chqu-Llltttp 7 47s00

qrltu thg 5966000

onuqnh CL4hurlurp pLmlplr hurtpurl|rh Eurnurlmp3mtrhtp



Fadh0 01 lunrdp 06 4utu 01 dpuqhp 51
q0duto utnutltuh

qldut dl'
(0Ap)gaUapq0) qa4nno cloo

D0nurtbtp baluu
(4lrurtJ)

Putu.tUD
</h

Uh?urtqh|

CPV
U04ut0nuJp

74220000 Qm; plr rlup&ur\urlntplnttr FCUZ rlFulrJ 360000 1

2 79634000

Uuruhuqlrurur\urtr
Eurnur;mplmhhtp FQUZ 4nu 417365 1

3 60172000

purqurprul|rh b rllr2purrlurpul ltr
tr2urtrur\ntplurh ur{urnpntuhtp}r

{urp&ur\urlmp1mh ' {urpnpq}r htut
rlfrruulrtr CZ qprurJ 320000 1

Cttrp 2frlrrpllr hhtnlt Dt In*Shl1{t1urlt@ 38263s

I 44163100 tunrlml ur! rltrnurrlur\ulr cz qb/ 1500 58500 39

2 44163100 tun4ndur\ LItuur4u\ul.t qb/ 1400 630

3 44163100 tunrln{ur\ rlhurulur\urtr CZ qb/ 1300 '15600 L2

4 44163100

tunrlm{ru\ rlhururyur\urh
CZ q6/U 1500 36000 24

5 44163100

tunqmlurq huur{ruquL
qbi 1700 10200 6

6 44163100

tun{nqru\ UhururququL
az qb/r.l 1 100 13240 72

7 44163100

tun1n{ur\ tuurrlur\ruf.t
cz qb/ 1700 20400 72

44163100

tunlnqurq !ihururqurquru
nqqub\1ml.r CZ q6/U 1'100 3300 3

9 44167000 Uripuh rltulu4lur CZ qq 3410 3410 1

10 37111140 L1t\upn4 unlql 4500 9000 2

11 44111200 StUhirLl qurltl 287 5 1 i 500 4

12 14211000 U,l*q cz uluFll 500 5500 l1

44192670 Uhlu 2bhurlurluqurh cz \q 700 5670 8,1

T4 44192600 uhfu pbptqi, a, \q 700 3290 4,7

44531510 'lunluur\ hum 5 200 40

44531510 Aunr ururI pfphq]t hula 15 14070 938

t7 44212510 UtrUl nltru\ rlhl.rrulllur hrurn 1000 40500 40,5

18 44172000 Su'qn cz d 1000 8500 8,s

44711412 Ltn\ a] hruur 1500 7500 5

20 44832000 In16fr2 cz hruu 2204

2l 18141000 ItnLng ur2|uruurruhpulf h CZ hurur 300 1500 5

22 44118000 3f tr\uquru bupruplptrl a/ huur 13833 .83000 6

23 44118000 3[b\uquu hupp pfphrl cz p 2700 17550

44192800 qtAbtr cz hurL,r 300 300 1

25 44212220 UtuuluLurn cz !q 550 715

44192100 lntrqhLhpLnnblb (pvc) qrn$nrt cz hruul 1000 2000 2

27 44514200 9upnrl purl dz hurur 1200 8400 7

75110000

Ch4hullDrF Flmrlplr
burnurlnr-plmhhtp FCU2 4nu1 240000 1

79140000

Stqt\uru{ur\urtr
bunurl nlpl nlulrtF FCUz 4Full 100000 L

Cb4ulLitLp 1740000

onuqnh Qln14ururhrntur:rp1mh
putdho 04 lumrJF 02 4uru 01 

'nutqhn 
51

q(tdLuA Lumapqlh
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CPV
U04u0mrJ? (0Aplrrgaqw?qp) chtD (4t1wtJ)

zaAaqo

1 79000000

9rumur{up2ur\urtr
bulnlulmplmhhtl FCUI 4l!rr.l 73000 I

2 75110000

CLqhurtrmp Fhnrlldh
Eurnurlmplmtrl-rhp FQUZ qlurrl 427040 1

Ounurqbl

3 2 ut tw I7 ut p 91 qltt uutppu{npn ultt t p 1625000

30213300 uh4urLrf r hulfu.r\upqf y CZ hul{urpubm 297000 594000 2

30239130

u1u1hl/ulurndhLulhulh{urtr
Llhpthur/u\ruhhp, luqtpulf tr CZ hul1n 100000 109000 1

30237000

url.rluu{trub uhmg{urh
uu.rpp/uhpt{hp! hur up CZ hulur 300000 300000 I

30237000 .{tp utuu}Ltg!\ cz huur 14000 42000 3

30213300 ut{utrb huUru\urpqlt) hurlurpubm 290000 580000 2

397 14220 o4nnu\hl, 12000 BTU hurr.Il 205000 410000 2

4 4put u t t4w 11 qlttt I whnqp

39122200 qluuluhullurh FCU2. hu\'r 91500 183000 2

39121300 qpuluh{urb FCUZ huur 72000 360000 5

39138120 rupnn, LJlu3r,.rlru FQUZ hruur 15000 300000 2A

39138310 truq\upnn FCUZ hurr.ri 38000 152000 4

39t222A0 qpuruluhulurb FCUZ hur1n 71600 214800 3

39121300 huh4fqm Ltpf uhtlutL FCUZ hruur 150000 150000 I

13s9800

5 Clthwt4ntp 827600

44112200 2Luurtu\ fr brub\ nr lp/lurlftLurut CZ Br.t 3600 756000 2r0

44192000 Ohurlrth rlrprf mp,/noporon az 300 60000 200

44111413 1n14urttpl.; CZ \q 1100 3300 3

24911204 unuftr&, Nmpfur t,z Uq 830 8300 L0

Ctrrlur LLtp 2952600

6 eV t b w 11 u tt qlt unqpfr t! g!-!!ttl -.!.-J!_ltt!:E!!_ 827600

30197631 pnr-qp, 44 $nFIurnF2 /27x29.7 / FCU2 hurL.r 2000 80000 40

3019ss00 9puurulurnu\ FCUI 45000 48200 L,01

Qh4u hbl 128200

Ontuqnh Utt d2ur\m1pulfh \ruqilq\lqufllptnLblIF
purdhtt 08 lundp 02 4utu 04 

'Futqhn 
5l

q0[w0 ununuh
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EA4a|JEA? 6uluu

(4tat) eurauqn

4h
Uhgrxag

hlf lfn4D U04ut0m[p

1 03121200 .{urirn lun hn FQUZ hurn 1000 300000 300

2 03121200 Utluul.r ACU2 huur 250 2s000 100

3 03127210 lltfuurlr FCUZ hulul !24 6000 50

4 03121200 aluurll FCUZ huuD 25000 50000 2

5 03121200 qurnn uuthuur\ FCUZ huur 500 100000 200

6 39280000 L hntrhn FCUZ hiuu.r 1200 397200 331
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